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Grade 3 Mathematics

Which of these numbers is ninety-seven?

o 97
79
96
907

0 00

Salama started this pattern.

ALTAALTA A A

Which shapes continue her pattern?

o A
o A A
o A A A
o A A A A
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Grade 3 Mathematics

What time does this clock show?

0 11:30 |

Eleven o'clock

Thirty minutes to eleven
One thirty
Eleven thirty

0000

Which picture has a square, a circle and a triangle?

= OO

= OA

= OA
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Grade 3 Mathematics

Which of these sums is the largest?

o 12+8
o 12+9
o 14+8
o 10+10

A number is missing in this correct number sentence.
12 +8 =5+

Which is the missing number?

o 13
15
20
26

0 00
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Grade 3 Mathematics

Look at the graph, then answer the questions: (7, 8)

This graph shows the age of some students.

Sara Mouza Alia Noura Amna

Name

How old is Noura?

O 12 years
O 10 years
O 9 years
o

8 years

What is the difference in age between Alia and Amna?

O 1 year
O 2years
O 3years
o

4 years
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Grade 3 Mathematics

©

Dhs 1 Dhs 1.50

Aminah bought 1 apple and 1 ice block.
How much did she pay altogether?

O Dhs 2
O Dhs 2.50
O Dhs 3.50
O Dhs4

Hamad has these four number cards:

Which number can he make?

o 8731
o 1871
o /135
O 3287

1"
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Grade 3 Mathematics

Which shape has exactly one line of symmetry?

- O

- =

The place value of the 5in 11534 is 500
What is the place value of the 3 in 54327
o 3

o 30
o 300
o 3000

13
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Grade 3 Mathematics

k1 Look at this triangle.

mirror line

Which one shows the triangle flipped over the line?

('} Fatima wants to calculate 12 x 4

How could she do this?

O 4dxd x4 x4 xdxdxdxdxdxqdxd x4
O 12+12+12+ 12

O 4+12+4+12+4+12+4+12

O 12x12x12x%x 12

15
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Grade 3 Mathematics

4] This is Hessah's timetable for Monday.

Time Activity
9:00 Music

9:40 Language
10:20 Recess
10:40 Sport

11:20 Mathematics
12:10 Lunch break
12:40 Art

Which activity does she have at 10:40?
O Art

O Language
O Recess

O Sport

Ahmed thought of a number.

He multiplied it by 3 and then added 7
The result was 22

Which number did Ahmed start with?

o 15
12
10
5

0 00

17
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Grade 3 Mathematics

WA The table below shows the heights of some students.

Name Height
Ahmed 132 cm
Mahmoud 150 cm
Ali 135 cm
Rashid 135 cm
Khalid 143 cm

Who is the tallest?
o Ali

O Ahmed

© Mahmoud

O Rashid

Shaika makes an object using these five 2D shapes:

ANIVANRVANIVAN

Which object could she make?

19
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Grade 3 Mathematics

Mubarak bought 1 orange and 1 apple.

The apple cost Dhs 1 @ @
He paid Dhs 2.50 altogether.

How much was the orange?

o Dhs 1.00
O Dhs 1.50
O Dhs 2.50
O Dhs 3.50

3 5 7
1 3
4 /\ 1

Which two numbers make this number sentence correct?
(=) =4 A =8

o@=3 A=9

o =5 A =8

() =4 A =9

+

21
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Grade 3 Mathematics

A8 Which shape has three-quarters shaded?

N
—2L

1L

N
—2L

—1L

)

There is some water in this jug.

Ahmed adds another half a litre.

N
—2L

1L

)

How much water is in the jug now?

\

23
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Grade 3 Mathematics

Noura started this number pattern:

1 1
2 |25 | 3 |33

N[—

In her pattern, the 5th number is 3
Which should be the 10th number in Noura's pattern?

1
C)4§
1
C)52

o b

o/

Nine cubes fit exactly in the bottom of a box.

How many cubes are needed for 3 layers?

o 9
12
18
27

0 00

25
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Grade 3 Mathematics

Mouza has some squares of paper with side length 10 cm

10 cm

-

A square piece of carpet has side length 50 cm

50 cm

y

A

How many squares of paper does Mouza need to cover the carpet?

o 5

20
25
50

0 0O

27
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Grade 3 Mathematics

The rule for this number pattern is ‘add 5'.
112 117 122 127

The pattern continues in the same way.

Which two numbers nearest to 200 will be in the pattern?

¥8 Fatima wants to buy a phone that costs 475 Dhs.

She saves 50 Dhs each week.

Dhs 475

How many weeks does she need to save to buy the phone?

29




